

Topological degree for periodic solutions of non-autonomous differential delay equations*

by

RONG CHENG AND JIANHUA HU

Abstract

By making use of topological degree theory for Poincaré map established in [1], we obtain the existence of periodic solutions for a class of non-autonomous differential delay equations, which can be transformed to planer Hamiltonian systems.

Key Words: Periodic solutions, differential delay equations, topological degree.

2010 Mathematics Subject Classification: Primary 34C25; Secondary 37J45.

1 Introduction

In this article we consider the existence of periodic solutions for the following non-autonomous differential delay equation

$$x'(t) = f(x(t - \tau)) + g(t, x(t - \tau)), \quad (1.1)$$

where $\tau > 0$, f and g are both continuous. Some special autonomous differential delay equations similar to Eq.(1.1) have been studied by many authors through various methods. Lots of results of periodic solutions for those equations can be found in [1-7].

The previous works are mainly concerned with the autonomous cases. The purpose of the present paper is to use a new approach to study the existence of periodic solutions of the non-autonomous equation (1.1). More precisely, we shall use the topological degree theory for Poincaré map established in [1] to obtain the existence of periodic solutions of Eq.(1.1). We give our main result in the next section .

Throughout the present paper, we assume that the following conditions hold.

*Supported by the National Natural Science Foundation of China no.11026212.

(H1) Let $f(x) : \mathbb{R} \rightarrow \mathbb{R}$ be homogeneous, locally Lipschitz continuous and satisfying $f(x) > 0$, for all $x > 0$.

(H2) $g(t, x) : \mathbb{R} \times \mathbb{R} \rightarrow \mathbb{R}$ is $T = 4\tau$ -periodic in its first variable, locally Lipschitz continuous in its second variable.

(H3) There are two constants $\alpha > 0$ and $\beta \in [0, 1)$ and a function $h : \mathbb{R} \rightarrow \mathbb{R}$ such that

$$|g(t, x)| \leq \alpha |x|^{\beta/2} \text{ for all } (t, x) \in \mathbb{R} \times \mathbb{R},$$

$$\lim_{\lambda \rightarrow +\infty} \frac{g(t, \lambda x)}{\lambda^\beta} = h(t), \forall \lambda > 0, \text{ for all } (t, x) \in \mathbb{R} \times \mathbb{R}.$$

Remark 1.1. Here we do not assume the condition that f and g are asymptotically linear both at origin and at infinity which plays a crucial role in the study of the existence and multiplicity of periodic solutions for those autonomous differential delay equations in previous papers.

In Section 2 we give the main result of this paper and its proof. The proof will be carried out by applying the topological degree theory for Poincaré map constructed in [1]. In Section 3 an example will be given as an application of our result. In Section 4 a useful lemma will be proved by applying the ideas of [1].

2 Main result and its proof

In this section, we first reduce Eq.(1.1) to an associated planar Hamiltonian system. Consider the following system

$$J \frac{d}{dt} X(t) = \Phi(t, X(t)), \text{ where } J = \begin{pmatrix} 0 & -1 \\ 1 & 0 \end{pmatrix}, \quad (2.1)$$

$X(t) = (x_1(t), x_2(t))^T$ and $\Phi(t, X) = (f(x_1) + g(t, x_1), f(x_2) + g(t, x_2))^T$. It is not difficult to see that if $X(t)$ is a solution of (2.1) with the following symmetric structure

$$x_1(t) = -x_2(t - \tau), x_2(t) = x_1(t - \tau), \quad (2.2)$$

then $x(t) = x_1(t)$ gives a solution to Eq.(1.1) with the property $x(t) = -x(t - 2\tau)$. In fact, by the system (2.1),

$$x_1'(t) = f(x_2(t)) + g(t, x_2(t)) = f(x_1(t - \tau)) + g(t, x_1(t - \tau)).$$

Therefore $x(t) = x_1(t)$ is a solution of Eq.(1.1).

Note that Eq.(2.1) can be written as the following planar system

$$Jy'(t) = \nabla H(y) + G(t, y), \quad (2.3)$$

where $H(y) = \int_0^{y_1} f(x)dx + \int_0^{y_2} f(x)dx$ and $G(t, y) = (g(t, y_1), g(t, y_2))^T$ for each $y = (y_1, y_2)^T \in \mathbb{R}^2$. Notice that the matrix J is a symplectic matrix. Thus the

system (2.3) is a planar Hamiltonian system with the symplectic structure J . We call this planar Hamiltonian system the associated system to Eq.(1.1). Hence in the next, we only need to find periodic solutions of the system (2.3) satisfying (2.2).

For the two functions H and G , we have the following lemma.

Lemma 2.1. *The functions H and G have the following properties.*

(1) *the function $H \in C^1(\mathbb{R}^2, \mathbb{R})$ with locally Lipschitz continuous gradient satisfies $H(\lambda y) = \lambda^2 H(y)$ and $\min_{\|y\|=1} H(y) > 0$ for every $y \in \mathbb{R}^2$ and $\lambda > 0$.*

(2) *$G \in C^1(\mathbb{R} \times \mathbb{R}^2, \mathbb{R})$ is T -periodic in its first variable and locally Lipschitz continuous in its second variable, and G satisfies $\|G(t, y)\| \leq \alpha(\|y\|^\beta + 1)$.*

Proof. (1) By (H1) and the definition of H , $\nabla H(y) = (f(y_1), f(y_2))$. Then $H \in C^1(\mathbb{R}^2, \mathbb{R})$ and $\nabla H(y)$ is locally Lipschitz continuous.

For $\lambda > 0$, note that $H(\lambda y) = \int_0^{\lambda y_1} f(x)dx + \int_0^{\lambda y_2} f(x)dx$. Let $x = \lambda v$. (H2) yields

$$\begin{aligned} H(\lambda y) &= \int_0^{\lambda y_1} \lambda f(\lambda v)dv + \int_0^{\lambda y_2} \lambda f(\lambda v)dv \\ &= \lambda^2 \left(\int_0^{y_1} f(v)dv + \int_0^{y_2} f(v)dv \right) \\ &= \lambda^2 H(y). \end{aligned}$$

By virtue of mean value theorem for integrals and (H1),

$$\begin{aligned} H(y) &= f(\theta y_1)y_1 + f(\theta y_2)y_2 \\ &= \theta(f(y_1)y_1 + f(y_2)y_2) > 0 \text{ for some } \theta \in (0, 1). \end{aligned}$$

That means $\min_{\|y\|=1} H(y) > 0$.

(2) By (H2), we only need to show $\|G(t, y)\| \leq \alpha(\|y\|^\beta + 1)$ or $\|G(t, y)\|^2 \leq \alpha^2(\|y\|^\beta + 1)^2$. For $\alpha > 0$ and $\beta \in [0, 1)$, notice that $|g(t, x)| \leq \alpha|x|^{\beta/2}$.

$$\|G(t, y)\|^2 = g^2(t, y_1) + g^2(t, y_2) \leq \alpha^2(|y_1|^\beta + |y_2|^\beta).$$

Set $y_1 = r \cos \theta, y_2 = r \sin \theta$. Thus

$$\begin{aligned} \|G(t, y)\|^2 &\leq \alpha^2(r^\beta |\cos^\beta \theta| + r^\beta |\sin^\beta \theta|) \\ &\leq 2\alpha^2 r^\beta < \alpha^2(r^{2\beta} + 2r^\beta + 1) \\ &= \alpha^2(\|y\|^\beta + 1)^2. \end{aligned}$$

This completes the proof of Lemma 2.1. \square

Let $E = \{\varphi(t) : \varphi(t) \in C^1([0, T] \rightarrow \mathbb{R}^2), \varphi(0) = \varphi(T)\}$. Define an action σ on E by

$$\sigma \varphi(t) = J\varphi(t - \tau).$$

Then $G = \{\sigma, \sigma^2, \sigma^3, \sigma^4\}$ is a compact group action over E . Moreover if $\sigma\varphi(t) = \varphi(t)$, then $\varphi(t)$ has the symmetric structure (2.2). Denote $E_0 = \{\varphi(t) \in E : \sigma\varphi(t) = \varphi(t)\}$. A direct verification shows that E_0 is a subspace of E . Since solutions of (2.3) in E_0 have the symmetric structure (2.2), they will give solutions of Eq.(1.1). So that in the next, we only find solutions of (2.3) in E_0 .

As in [1], we now fix a solution of the following autonomous system

$$Jy' = \nabla H(y).$$

Let $\varphi = (\varphi_1(t), \varphi_2(t)) \in E_0$ be such that

$$J\varphi'(t) = \nabla H(\varphi) \text{ and } H(\varphi(t)) = \frac{1}{2},$$

for each $t \in \mathbb{R}$. Then $\langle \varphi'(t), J\varphi(t) \rangle < 0$ for each $t \in \mathbb{R}$. Define

$$\Omega = \{\rho\varphi(\theta) : \theta \in [0, T), \rho \in [0, 1)\},$$

which is strictly star-shaped with respect to the origin, i.e. every ray emanating from the origin crosses the orbit of φ at precisely one point.

Let $P : \bar{\Omega} \rightarrow \mathbb{R}^2$ be a continuous function such that $\forall t \in \mathbb{R}, P(\varphi(t)) \neq \varphi(t)$ and $P(\varphi(t)) \neq (0, 0)$. That means $(P - Id)|_{\partial\Omega} \neq 0$. For $\delta > 0$, define

$$\Omega_\delta = \{\frac{1}{\delta}\rho\varphi(\theta) : \theta \in [0, T), \rho \in [0, 1)\}.$$

Note that $\Omega_1 = \Omega$. Define two functions Φ and Ψ by

$$\begin{aligned} \Phi(\theta) &= \int_0^T \langle F(t, \varphi(t+\theta)), \varphi(t+\theta) \rangle dt, \\ \Psi(\theta) &= \int_0^T \langle F(t, \varphi(t+\theta)), \varphi'(t+\theta) \rangle dt, \end{aligned}$$

where $F(t, y) = \lim_{\lambda \rightarrow +\infty} \frac{G(t, \lambda y)}{\lambda^\beta} = (h(t), h(t))$. Since $g(t, x)$ is continuous, $h(t)$ is also continuous. Therefore Φ and Ψ are well defined.

Then our main result reads as follows.

Theorem 2.1. *Assume that (H1)-(H3) hold. Then*

$$\begin{aligned} \Phi(\theta) &= \int_0^T h(t)(\varphi_1(t+\theta) + \varphi_1(t+\theta-\tau))dt, \\ \Psi(\theta) &= \int_0^T h(t)(\varphi'_1(t+\theta) + \varphi'_1(t+\theta-\tau))dt \\ &= \Phi'(\theta). \end{aligned}$$

Suppose

$$\forall \theta \in \mathbb{R}, |\Phi(\theta)| + |\Psi(\theta)| \neq 0.$$

If Ψ changes sign more than twice on the zeros of Φ in $[0, T)$, then Eq.(1.1) has a T -periodic solution.

Denote by $\mathcal{P} : \mathbb{R}^2 \rightarrow \mathbb{R}^2$ the Poincaré map for the period T associated to (2.3). In order to prove Theorem 2.1, it is enough for us to verify that topological degree for the map $\mathcal{P} - Id$ on Ω_δ never vanishes, i.e. $\deg(\mathcal{P} - Id, \Omega_\delta) \neq 0$. We need the following lemma.

Lemma 2.2. *Assume that (H1)-(H3) hold and*

$$\forall \theta \in \mathbb{R}, |\Phi(\theta)| + |\Psi(\theta)| \neq 0.$$

Then for every sufficiently small δ ,

$$\begin{aligned} \deg(\mathcal{P} - Id, \Omega_\delta) &= 1 - \deg(\Phi, (a, a+T) \cap \{\Psi > 0\}), \\ &= 1 + \deg(\Phi, (a, a+T) \cap \{\Psi < 0\}), \end{aligned}$$

where a is chosen such that $\Phi(a) \neq 0$.

Proof. Since the proof is similar to Theorem 2 of [1], for the readers' convenience, we give the proof of Lemma 2.2 in Appendix. \square

Proof of Theorem 2.1. Notice that $\varphi(t) \in E_0$. $\varphi = (\varphi_1, \varphi_2)$ has the symmetric structure (2.2). From (H3) $F(t, y) = \lim_{\lambda \rightarrow \infty} \frac{G(t, \lambda y)}{\lambda^\beta} = (h(t), h(t))$. Hence

$$\begin{aligned} \Phi(\theta) &= \int_0^T \langle F(t, \varphi(t+\theta)), \varphi(t+\theta) \rangle dt \\ &= \int_0^T h(t)(\varphi_1(t+\theta) + \varphi_2(t+\theta)) dt \\ &= \int_0^T h(t)(\varphi_1(t+\theta) + \varphi_1(t+\theta-\tau)) dt. \end{aligned}$$

A direct computation yields $\Psi(\theta) = \Phi'(\theta)$.

If $\Psi(\theta) > 0$, then $\Phi'(\theta) > 0$. This implies that the zeros of Φ in $\{\Psi > 0\}$ are all simple with positive derivative. By assumption, there are at least two of them in $[a, a+T) \cap \{\Psi > 0\}$, where a is chosen so that $\Phi(a) \neq 0$. Then it follows from Lemma 2.2 that

$$\deg(\mathcal{P} - Id, \Omega_\delta) = 1 - \deg(\Phi, (a, a+T) \cap \{\Psi > 0\}) \leq -1.$$

If $\Psi(\theta) < 0$, then $\Phi'(\theta) < 0$. By using similar arguments, the conclusion of Theorem 2.1 holds. Therefore the proof is complete. \square

3 Applications

In order to illustrate some applications for our result, we consider the following differential delay equation

$$x' = x(t-\tau) + \lambda^\beta h(t) + \mu e(t) \sin(x(t-\tau)^{\nu(x(t-\tau))}), \quad (3.1)$$

where $h(t)$ and $e(t)$ are both T -periodic, $\lambda > 0$, $\nu(x)$ is a continuous function satisfying

$$\nu(x) = \begin{cases} \beta_1, & \text{as } |x| \geq 1, \\ \beta_2, & \text{as } |x| < 1, \end{cases}$$

where $\beta_1 \leq \frac{\beta}{2}$ and $\beta_2 > \frac{\beta}{2}$.

Take $f(x) = x$ and $g(t, x) = \lambda^\beta h(t) + \mu e(t) \sin(x^{\nu(x)})$. Then f and g satisfy the conditions (H1)-(H3).

It is easy to see $H(y) = \frac{1}{2}y_1^2 + \frac{1}{2}y_2^2$. By a simple computation, a nontrivial periodic solution $\varphi(t) = (\varphi_1(t), \varphi_2(t))$ for the autonomous system $Jy' = \nabla H(y)$ is $\varphi_0(t) = (\frac{1}{2}\sin t, \frac{1}{2}\cos t)$, which satisfies $H(\varphi_0(t)) = \frac{1}{2}$. Moreover take $\tau = \frac{3}{2}\pi$, we can verify easily that $J\varphi_0(t - \tau) = \varphi_0(t)$, i.e. $\sigma\varphi_0(t) = \varphi_0(t)$. Thus $\varphi_0(t) \in E_0$ and has the symmetric structure (2.2).

A direct computation shows that

$$\begin{aligned} \Phi(\theta) &= \frac{1}{2} \int_0^T h(t)(\sin(t + \theta) + \cos(t + \theta))dt, \\ \Psi(\theta) &= \frac{1}{2} \int_0^T h(t)(\cos(t + \theta) - \sin(t + \theta))dt. \end{aligned}$$

Assume that

$$\forall \theta \in \mathbb{R}, |\Phi(\theta)| + |\Psi(\theta)| \neq 0$$

and Ψ changes sign more than twice on the zeros of Φ in $[0, T)$, then Eq.(3.1) has a T -periodic solution.

4 Appendix

In this section, we give a skeleton of the proof of Lemma 2.2. The main idea comes from [1].

For the continuous map P , we can define two continuous functions $R, \Theta : \mathbb{R} \rightarrow \mathbb{R}$ such that

$$P(\varphi(t)) = R(t)\varphi(t + \Theta(t))$$

with $R(t) > 0$ for all $t \in \mathbb{R}$.

Let $\tau_{opp}(t)$ denote the function defined by

$$\tau_{opp}(t) \in (0, \tau) \text{ and } \frac{\varphi(t)}{\|\varphi(t)\|} = -\frac{\varphi(t + \tau_{opp}(t))}{\|\varphi(t + \tau_{opp}(t))\|} \quad (4.1)$$

We have the following theorem.

Theorem 4.1. (Theorem 1 of [1]) Let $P : \bar{\Omega} \rightarrow \mathbb{R}^2$ be continuous and such that

$$P(\varphi(t)) = R(t)\varphi(t + \Theta(t)),$$

where $R, \Theta : \mathbb{R} \rightarrow \mathbb{R}$ are continuous and, for every $t \in \mathbb{R}$

$$R(t) > 0 \quad (4.2)$$

$$\tau_{opp}(t) - \tau < \Theta(t) < \tau_{opp}(t) \quad (4.3)$$

and

$$|R(t) - 1| + |\Theta(t)| \neq 0. \quad (4.4)$$

Then,

$$\begin{aligned} \deg(P - Id, \Omega) &= 1 + \deg(\Theta, (a, a + \tau) \cap \{R > 1\}) \\ &= 1 - \deg(\Theta, (a, a + \tau) \cap \{R < 1\}), \end{aligned}$$

where a is chosen so that $\Theta \neq 0$.

Now for some $\delta > 0$, by change of variables $z = \delta y$, (2.3) becomes

$$Jz' = \nabla H(z) + \delta G(t, \frac{z}{\delta}). \quad (4.5)$$

Denote by $\tilde{\mathcal{P}}_\delta : \mathbb{R}^2 \rightarrow \mathbb{R}^2$ the Poincaré map associated to (4.5). Then one has $\tilde{\mathcal{P}}_\delta(z) = \delta \mathcal{P}(\frac{z}{\delta})$. Moreover

$$\deg(\mathcal{P} - Id, \Omega_\delta) = \deg(\tilde{\mathcal{P}}_\delta - Id, \Omega).$$

For each $\theta_0 \in [0, \tau)$, write

$$\tilde{\mathcal{P}}_\delta(\varphi(\theta_0)) = r_1 \varphi(\theta_1).$$

According to [1], we can evaluate θ_1 and r_1 as

$$\begin{aligned} \theta_1 &= \theta_0 + \delta \int_0^T \frac{1}{r(t)} \langle G(t, \frac{r(t)}{\delta} \varphi(t + \theta(t))), \varphi(t + \theta(t)) \rangle \\ r_1 &= 1 - \delta \int_0^T \langle G(t, \frac{r(t)}{\delta} \varphi(t + \theta(t))), \varphi'(t + \theta(t)) \rangle, \end{aligned}$$

where $r(t) > 0$ and $r(0) = 1$ and $z(t) = r(t)\varphi(t + \theta(t))$, where $z(t)$ is a solution of (4.5).

We have the following lemma.

Lemma 4.1. (Lemma 2 of [1]) We have

$$\begin{aligned} \theta_1 &= \theta_0 + \delta^{1-\beta} [\Phi(\theta_0) + R_1(\theta_0, \delta)] \\ r_1 &= 1 - \delta^{1-\beta} [\Psi(\theta_0) + R_2(\theta_0, \delta)], \end{aligned}$$

where Φ and Ψ are defined in Section 2, R_1 and R_2 are such that

$$\lim_{\delta \rightarrow 0+} R_1(\theta_0, \delta) = \lim_{\delta \rightarrow 0+} R_2(\theta_0, \delta) = 0$$

uniformly for $\theta_0 \in [0, \tau)$.

The proof of Lemma 4.1 bases on Lemma 2.1. Here we omit the details. Now we give a brief proof of Lemma 2.2.

Proof of Lemma 2.2. Let $\text{rot}(\tilde{\mathcal{P}}_\delta - Id, \partial\Omega)$ denote the rotation number of $\tilde{\mathcal{P}}_\delta - Id$ on the curve $\partial\Omega$. In fact,

$$\deg(\tilde{\mathcal{P}}_\delta - Id, \Omega) = \deg(\tilde{\mathcal{P}}_\delta - Id, \partial\Omega).$$

Since $|\Phi(\theta)| + |\Psi(\theta)| \neq 0$, we can chose a constant $c > 0$ such that

$$|\Phi(\theta)| + |\Psi(\theta)| \geq 2c.$$

For $\lambda \in [0, 1]$, consider the functions $P_{\delta,\lambda} : \partial\Omega \rightarrow \mathbb{R}^2$ defined by

$$P_{\delta,\lambda}(\varphi(\theta_0)) = r_1^\lambda \varphi(\theta_1^\lambda).$$

Now we prove $P_{\delta,\lambda} - Id$ never vanishes on $\partial\Omega$ for each $\lambda \in [0, 1]$ and for δ sufficiently small, i.e. $P_{\delta,\lambda}$ has no fixed points on $\partial\Omega$. By Lemma 4.1, we can chose $\bar{\delta} > 0$ such that

$$0 < \delta < \bar{\delta} \Rightarrow |R_1(\theta_0, \delta)| < c, |R_2(\theta_0, \delta)| < c.$$

Note that

$$\begin{aligned} |\Phi(\theta_0)| &= \left| \frac{\theta_1^\lambda - \theta_0}{\delta^{1-\beta}} - \lambda R_1(\theta_0, \delta) \right| < \frac{|\theta_1^\lambda - \theta_0|}{\delta^{1-\beta}} + c \\ |\Psi(\theta_0)| &= \left| \frac{r_1^\lambda - \theta_0}{\delta^{1-\beta}} - \lambda R_2(\theta_0, \delta) \right| < \frac{|r_1^\lambda - \theta_0|}{\delta^{1-\beta}} + c. \end{aligned}$$

One has $(\theta_1^\lambda, r_1^\lambda) \neq (\theta_0, 1)$, or $|\Phi(\theta)| + |\Psi(\theta)| < 2c$, a contradiction. So we have the above conclusion. Thus

$$\text{rot}(P_{\delta,1} - Id, \partial\Omega) = \text{rot}(P_{\delta,0} - Id, \partial\Omega).$$

Let us focus on $P_{\delta,0} : \partial\Omega \rightarrow \mathbb{R}^2$. It is easy to see that $P_{\delta,0} = r_1^0 \varphi(\theta_1^0)$, where $r_1^0 = 1 - \delta^{1-\beta} \Psi(\theta_0)$ and $\theta_1^0 = \theta_0 + \delta^{1-\beta} \Phi(\theta_0)$. We extend $P_{\delta,0}$ to a continuous function $P : \Omega \rightarrow \mathbb{R}^2$. So that

$$P(\varphi(\theta_0)) = R(\theta_0) \varphi(\theta_0 + \Theta(\theta_0))$$

with $R(\theta_0) = 1 - \delta^{1-\beta} \Psi(\theta_0)$ and $\Theta(\theta_0) = \delta^{1-\beta} \Phi(\theta_0)$. For sufficiently small δ , we can check (4.2), (4.3) and (4.4) are satisfied. Therefore by Theorem 4.1, we have

$$\begin{aligned} \deg(P - Id, \Omega) &= 1 - \deg(\Theta, (a, a + \tau) \cap \{R < 1\}) \\ &= 1 - \deg(\Phi, (a, a + \tau) \cap \{\Psi > 0\}), \end{aligned}$$

where a is chosen such that $\Phi(a) \neq 0$.

It follows from the excision property of topological degree that the second formula holds. The proof of Lemma 2.2 is complete. \square

5 Acknowledgement

The authors thank the referee for carefully reading of the manuscript and giving valuable suggestions.

References

- [1] C. FABRY, A. FONDA, Periodic solutions of perturbed isochronous hamiltonian systems at resonance, *J. Diff. Eq.* **214**(2005), 299-325.
- [2] G. FEI, Multiple periodic solutions of differential delay equations via Hamiltonian systems (I), *Nonlinear Anal. T.M.A.* **65**(2006), 25-39.
- [3] A. FONDA, Positively homogeneous hamiltonian systems in the plane, *J. Diff. Eq.* **200**(2004), 162-184.
- [4] W.G. GE, On the number of simple periodic solutions for differential and difference equation $x'(t) = f(x(t-1))$, *Chinese Annal of Math.(English Series)* **4**(1993), 472-479.
- [5] J. LI, X. HE, Proof and generalization of Kaplan-Yorke's conjecture under the condition $f'(0) > 0$ on periodic solution of differential delay equations, *Science in China(Series A)* **42**(1999), 957-964.
- [6] A.V.M. HERZ, Solutions of $x'(t) = -g(x(t-1))$ approach the Kaplan-Yorke orbits for odd sigmoid g , *J. Diff. Eq.* **118**(1979), 36-53.
- [7] J. KAPLAN, J. YORKE, Ordinary differential equations which yield periodic solutions of differential delay equations, *J. Math. Anal. Appl.* **48**(1974), 317-327.
- [8] J. LI, X. HE, Z. LIU, Hamiltonian symmetric groups and multiple periodic solutions of differential delay equations, *Nonlinear Anal. T.M.A.* **35**(1999), 457-474.
- [9] R.D. NUSSBAUM, Uniqueness and nonuniqueness for periodic solutions of $x'(t) = -g(x(t-1))$, *J. Diff. Eq.* **34**(1979), 25-54.

Received: 23.10.2008

Revised: 22.02.2010

Accepted: 09.11.2010.

College of Mathematics and Physics,
Nanjing University of Information Science and Technology,
Nanjing 210044, P. R. China
E-mail: mathchr@163.com

College of Science, University of Shanghai for Science and Technology,
Shanghai 200093, P. R. China
E-mail: smilydragon2004@yahoo.com.cn